

This is similar to the ‘subtraction using a number method’. On each row, add on to the number in brackets above. Remember to present your work neatly and to use a ruler when drawing answer lines.
e.g.
573 – 284 =289
5 7 3

· 2 8 4

     6
(2 9 0) – multiple of 10 above lowest number
   1 0 (3 0 0) – multiple of 100 above lowest number
2 0 0(5 0 0) – multiple of 100 below highest number
  +         7 3(5 7 3) – highest number in the question
 
2 8 9
In your maths homework book, complete the following questions using the same method...

1) 724 – 371 =
2) 835 – 527 = 

3) 691 – 462 = 

4) 705 – 126 =
5) 526 – 368 = 

6) 748 – 216 = 

